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uh 5% 110.5 4.88 18.9 2.82
1545 | 6% 116.8 4.93 21.3 3.58
3 2FE 7 5% 122.6 4.98 23.9 3.55
o | 3FE| 8 128.5 5.30 27.1 4.88
ATE | O 134.6 5. 60 30.9 6.12
SEE | 10 139.5 5.99 34.2 6. 87
6FE| 115 145.9 7. 06 38.5 7.72
1545 12% 153. 6 7.88 44.3 9.61
FIRFER | 258% 13% 160. 8 7. 22 49.4 9. 69
3FE | 14 166. 1 7.21 54. 4 10.35
154 15% 168.9 5.90 58.9 11.28
BEFR | 2EE | 165 170. 3 5. 84 59.5 9.13
3FEE | 17 171. 3 5. 64 61.6 9. 46
“h 5% 109. 6 4.54 18. 6 2. 60
1545 | 6% 115.8 4.74 20.9 3.08
X 2F% 7% 121.7 5. 04 23.5 3.90
o | 3FE] B8R 127.6 5. 42 26.3 4.47
ATE | 9 133.9 6. 43 29.9 5.51
SEE | 10 140.7 7. 00 34.0 7.04
6FE| 11 148.0 6. 88 39. 7 7. 50
1545 12% 152.5 5.78 43.9 8.16
FIRFER | 28% 13% 155. 4 5. 54 47.3 7.72
3FE| 14 156.5 5.38 49. 6 7.76
154 15% 157. 4 5.19 49.8 7. 54
BEFR | 2% 168 157.6 5.43 52.0 7.54
3FE| 17 158. 4 5.35 52.3 7.78
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